Multi-digit: S2

Addition Word Problems

1) Anthony makes $140,728 a year, and his wife makes $120,865. How much do Anthony
and his wife earn annually?

2) A country’s female population is 1,320,851. Their male population is 1,271,979. Find the
total population of the country.
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5) A large cold storage unit had 1,319,670 packs of frozen meat and 3,281,330 packs of
frozen fish. How many packs were there in all?

6)  Linville Orchard exported 521,237 boxes of apples and 128,678 boxes of oranges in May.
How many boxes did the Linville Orchard exportin all?

Teaching Resources @ www.tutoringhour.com



